Note on the Relative Standard Error
[bookmark: _GoBack]The relative standard error reported in the NMR describes the uncertainty that arises from the treatment of non-responses. These are the effect of various phenomena: lack of contact, rejection, inability to respond, statistical elusion (declare that you are not a farm to avoid the statistical burden), etc.
In short, these problems have been solved through a two steps imputation technique: in the first step, by a suitable model a "probability of being a farm" was associated with each non-responding unit belonging to the original list (units that had such a high enough probability were considered as a farm); in the second strep a complete questionnaire was given to each of these units. The donors were selected from responding units appropriately clustered: territory, values ​​of some structural variables present in the administrative archives, etc.
The empirical distribution function of the inputted non-responding units is an estimate of the true overall distribution describing the processes that led to the final imputation.
The relative standard error was then calculated by resampling from this empirical distribution (bootstrap).
Since each parameter of interest is a "sum" of observed and imputed parts we have that the variability is due only to the imputed part.
Therefore, indicating with ϑ the generic parameter of interest and  its estimate, the RSE was estimated by the following relationship:

Where  is the estimates of the variance of ,  is the estimate of the parameter of interest obtained with the units resampled with the bth bootstrap replicate,  is the average of the estimates obtained with the B=1000 replications of the bootstrap process,  is the estimate obtained with the observed units and  is the estimate obtained with the imputed units. 
